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Paper -

1. Which one of the following statement
is incorrect ?

(A) Salmond defines a State as
“A society of men established
for maintenance of order and
justice even beyond a determined
territory by way of force”.

(B) The administration of justice as
Salmond points out involves the
judicial use of force of the State,
while war represents its extra
judicial usage.

(C) The functions of State are
divided under two heads : the
constituent functions and
ministraint functions.

(D) The principle of Government
by which the supreme
legislative power of a State
is allowed to reside in one
central authority is known as
unitarianism.

2. Time to decide the reasonableness
of a custom is

(A) time of its interpretation by the
court

(B) time of its codification
(C) time of its origin

(D) time of its turning from usage

to customs

II
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3.

Read the Assertion (A) and Reason (R)
and give the correct answer using

the codes given below.

Assertion (A) : Duty is the
predicament of a person whose
acts are controlled by the State
in respect of a right vested in

another.

Reason (R) : It is thus the correlative
of right.
Codes :

(A) Both (A) and (R) are true,
but (R} is not the correct

explanation of (A)

(B) Both (A) and (R) are true and (R)

is the correct explanation of (A)
(C) (A) is true, but (R) is false
(D) (A) is false, but (R) is true

In modern legal system, which one
of the following concept involves the
redistribution of resources to assist

the poor ?
(A) Social justice
(B) Retributive justice

(C) Distributive justice

(D) Restorative justice
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5. Match List — I with List - II and select
the correct answer using the codes
given below the lists.

List - I List - II
a. Thomas Aquinas 1. Normative
order
b. John Austin 2. Command
theory
c. Kelsen 3. Dictates of
reasoning
d. Rawls 4. Theory of
justice
5. System of
rules
Codes :
a b ¢ d
A) 2 3 1 4
B)y4 2 5 1
3 1 4 2
D)3 2 1 4

6. Which one of the following statement
is true about legislation ?

1. It must be in confirmity with
existing custom.

2. Sovereign can delegate the
power of legislation.

3. It cannot be delegated.

4. The power of legislation vests
in sovereign.

Codes :
(A) 2,4
B) 1,2,3
C) 1,4
D) 1,2
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7. Law and morality are connected in
the Natural Law School through

(A) Political will

(B) Positive law

(C) Eternal and moral principles
(D) The force of precedent

8. Analytical jurist contend that

(A) Precedent is always superior to
legislation

(B) Legislation and precedent both
give way to each other

(C) Legislation is always superior to
precedent

(D) There is no difference in the
authority of legislation and
precedent

9. The concept of strict liability was first
introduced in one of the following
case
(A) Ashby Vs White
(B) Donoghue Vs Stevenson
(C) Rylands Vs Fletcher
(D) Carlill Vs Carbolic Smoke

Ball Co.

10. The key tenet of Hobbes’
philosophy is
(A) Natural law is necessary for a

good positive law but they differ
in both form and content

(B) Natural law is necessary for a
good positive law and they are
not identical in content

(C) Natural law is not necessary for
a good positive law though they
are identical in content

(D) Natural law is necessary for a
good positive law and they are
identical in content but differ
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11.

12.

Which one of the following
Fundamental Rights was described
by Dr. B.R. Ambedkar as the ‘heart

and soul of the Constitution’ ?

(A} Right to Equality

(B) Right to Life and Personal
Liberty

(©)

(D)

Right to Religion

Right to Constitutional
Remedies

In which of the following
circumstances, the Speaker of the
Lok Sabha enjoys the voting right ?

(A) He/she cannot vote
(B) Only in case of money bills
{C) He/she casts vote in case of tie

(D) He/she can casts vote with the

permission of Prime Minister

13. The Rajya Sabha is a permanent

house but
{(A) One fourth of its members retire

after every year
(B) One third of its members retire
after every two years
(C) One fourth of its members retire

after every five years
(D) One third of its members retire

after every five years

11.
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14.

15.

16.

17.

President’s rule under Article 356 of
Constitution of India remains valid in

the State for the maximum period of

(A) One year (B) Two years

(C) Six months (D) Nine months

A person shall be disqualified for

being a member of either house of

Parliament

(A) if he is so disqualified under
Tenth Schedule

(B} if he is an undischarged
insolvent

(C) if charges have been framed
against him in a criminal case

(D) Both (A) and (B}

Which of the following Articles of the
Constitution of India maintains that
“the law declared by the Supreme
Court shall be binding on all courts
within the territory of India” ?

(A) Article 124  (B) Article 129
(C) Article 136 (D) Article 141

In which of the following cases, the
nine Judge Bench of the Supreme
Court unanimously held that
amendments adding new laws in the
Ninth Schedule after Kesavananda
Bharati case were subject to basic
structure requirement ?

(A) M. Nagaraj Vs Union of India

{B) Jolly George Vergese Vs Bank of
Cochin

{C) L. Chandra Kumar Vs Union of
India

(D) LR. Coelho Vs State of
Tamil Nadu

14.
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18.

19.

20.

“Administrative law is the law relating
to the administration. It determines
the organization, powers and duties
of the administrative authorities.”
This definition is provided by

(A) K.C. Davis
(B) Garner
(C) Wade

(D) Ivor Jennings

In which of the leading case, the
Supreme Court stated that the
doctrine of colourable legislation
does not involve a question of
bonafide or malafide on the part
of legislatures. The whole doctrine
resolves into question of competency
of legislature to enact the law ?

(A) K.C. Gajapati Narayan Deo Vs
State of Orissa

(B) State of Bombay Vs K.P.
Krishnan

(C) Chandra Kumar Vs Union of
India

(D) Vishakha Vs State of
Rajasthan

Removal of difficulties clause is
linked with the name of

(A) Henry VIII Clause
(B) Henry VI Clause
(C) Henry V Clause
(D} Henry VII Clause

18.

19.

20.
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21.

22.

23.

24,

Which of the following is correct with

regards to the official language of the

United Nations ?

(A} Arabic, Chinese, English,
French, Russian and German

(B} Arabic, Korean, English, French,
Russian and German

(C) Arabic, Chinese, English, Indian,
Russian and Greek

(D) Arabic, Dutch, English,
French, Portuguese and
Spanish

Who among the following is NOT the
supporter of the Monoism theory ?

(A) Kelsen (B) Starke
(C) Lauter Pacht (D) Bentham

The oldest theory of “State
Succession” in international law
was propounded by

(A) Austin (B) Bentham
(C) Grotius (D) Holland

Who described the International Law
as a ‘“‘weak law” ?

(A) Holland
{C) Starke

(B) Bentham
(D} Kelsen

25. The admission of any State to

the membership in the United

Nations will be affected by a

decision of the upon the

recommendation of the

{A) Security Council, General
Assembly

{B) Security Council, Secretary
General

(C) General Assembly, Security
Council

{D) General Assembly, Secretary
General

21.

22,

23.

24.

25.

UYsct Aol g eun A (A
golcaul Uloll 565 cllotct ARl & 2

(A) Rull, wealln, 2i%, ke,
(2ot i et

@) wRoll, ARus, 2id0, ko,
32uet el et

(€ Rell, Wy, 2y, SR,
Rt el Al

(D) wRell, s, 6oy, Fu, Wl

TEED (B

o{lA gallcan Ugl slat wadaleatl
Reicoll aHeet sdl otell 2

(A) Gt (B) el

(C) @ler U (D) ActllH

“ %2l clRUES1R7 Ul ot

Qaruzel ot a2t Gealdd scul
wddl 2
(A) qURt

(€) aNlax

o{lAelt Usl Sloil gl WidRAE 2
sLAELA“E ol SLAEC AFLS cdlawAc &7
(A} 8lclles (B) Glo&lH

(C) w25 (D) Yot

(B) GlooltH
(D) &lCllos

SIEURL Aa] AYSel AGLHL YoAUE
olt [Ref2tell otsgl sl

), % Vi gl GLELMEL

sCAHL wAQL,

(A) AWM UEUQ, UM Hel

(B) actnld aBQ, Azedl wee
(C) Al e, el aR@

(D) AHleA e, A323 wele




"

26.

27.

28.

A Judge of the International Court
of Justice can be dismissed by the

(A) Security Council

(B) General Assembly on the
recommendation of the

Security Council

(C) Unanimous opinion of the other
Judges of the ICJ

(D) Unanimous decision of the
General Assembly

Article 14(1) of the which

international instrument states

that everyone has the right to

seek and enjoy in other countries

asylum from prosecution ?

(A) Universal Declaration of Human

Rights, 1948
United Nations Charter, 1945

International Covenant on Civil
and Political Rights, 1966

International Covenant on
Economic, Social and Cultural
Rights, 1966

Under which Article, the Vienna
Convention on the Law of Treaties,
1969 defines “Treaty” ?

{A) Article 2(1)(a)
(B) Article 2(1)(c)
(C) Article 2(1){e)
(D) Article 2(1)(h)

26. A2 Ul MElA el

27.

28.

UALLAA Kol gl elRcdRS 53
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A) dcndl 1Rl

B) dcHl AFAAl eteun o
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(A) uojBe 2(1)(A)

(B) wofwde 2(1)(l)
(C) oBE 2(1)(8)

(D) AfWBE 2(1) (AY)
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29, Which of the following statement is

correct ?
(A) ICRC stands for Internation
Community of Red Cross.

(B) Only objective of the
International Humanitarian
Law is to protect civilians.

(C) A Memory of Salferino was
published in 1862.

(D) IHL is a part of National Law.

30. Which of the following statement is

31.

incorrect ?

{A) International Humanitarian Law
has two branches namely Law of
Geneva and Law of New York.
International Humanitarian Law
sometimes called Law of Armed
Conflicts.

International Humanitarian Law
has two branches namely Law
of Geneva and Law of Hague.
Third Geneva Convention

was Convention relating to
treatment of prisoners of war.

(B)

(€)

(D)

‘A’ instigates ‘B’ to instigate ‘C’ to
murder Z’, B’ accordingly, instigates
‘C’ to murder Z’ and ‘C’ commits
that offence in consequence of ‘B’s
instigation.

(A)
(B)
(€

‘B’ is only liable for murder
‘A’ is only liable for murder

‘A’ and ‘B’ both equally liable for
murder

(D) ‘A’ may take plea that he has

no intention to kill ‘2’

29. o{lA ealicay Usloj 53 (Aot WY B?

30.

31.

@A) . AL wR. L ol wd
Boealeiel 5122l ullg S Sl
v U 8.

B) ldRAla istactcel sieelel
BsHIA GRel RS 281
sclloll 8.

() Ak ollell aeo(ld ad 1862
HiyRe scuni 2uadl

(D) AL, VA AA A Al sLaAEL
@l B.

oflA 2l Sl 52 (At Vg & ?

(A) BidAgla Histaldlel €l
stdele(l A 2l 8, Rdl ¥

Pllalol sl U o2l
SLUEL.

vidzAgla Mot dlalél slaet
seclls air slRaurug (AAE
Ulell sl2AEL sdaia 8.

Ui A2 Hioteldlal €] saLELefl
A A B, Bl ¥ wlAatel
SL2AEL Wal BoLell SL2UEL.

Alog gl a ANAt Yadelal
Yol delet Aol ARt &,
W, ‘W o] Yol sal HIE ‘§'el Ghral
HE2 ‘ool Go3ell 52 B, A und ‘o,
‘W'ef Yot sl HIZ ‘s'o(l Bed0l 52 &
z»g?té‘s' ‘ool Gekell U A el
5% B,

(A) VYetoll Ofell M2 Mo ‘o'

A ALGLELR )

Yotall ol M A ey

N UHELR B
(C) vototl Ofait HIE ‘W WA ‘o ol
vl A wawerr &
WA AL AS wF B A o
oll uol HI2 S % SRAEL URad
oA &l

(B)

(€)

(D)

(B)

(D)




32.

33.

Match the List — I containing the
Sections with List — I containing the
Maxims and choose the right answer
using the codes given below.

List -1 List - II
a. Section 81 1. Ignorantia
facit excusat
ignorantia juris

non excusat

b. Section 76 2. Quod necessitas
non nuset
leegem

c. Section 87 3. doli incapax

d. Section 82 4. Volenti non fit

injuria
Codes :
a b c d
(A) 4 3 1 2
(B) 3 2 1 4
©2 1 4 3
(D) 4 3 2 1
‘A’ finds a ring lying on the high road,

not in possession of any person. By
taking it ‘A’
1. Commits the offence of theft
2. Commits no theft
3. Commits criminal
misappropriate of property
4. Not committed any theft but

committed criminal breach of
trust

Consider the above statements and
choose your answer using the codes
given below.

Codes :

{A) Only 1 is correct

(B) Only 2 is correct

(C) Only 2 and 3 are correct
(D) Only 4 is correct

2. oA eafdcl augl - 1 Hi weuda

sl 1€ - 1T ui oseuac YAl
w8l A, dAHIR AA welol (1A
A [@AQseqnigll sl

atél -1 alél - 11
a. seH 81 1. gfoodR(a d{le
AseAe soellR2
w23 ollotalseyAe
b. 561 76 2. sals AR oot
dae [
c. 51 87 3. Sl sa3Us
d. s 82 4. Al olla $l2
SSorydlall
@Qsel :
a b c d
A)4 3 1 2
(B} 3 2 1 4
2 1 4 3
D)4 3 2 1

33. Wl ecl GuR Wdcll (2l 3 &, %

518 calselott solosul ¥l otell 20
l&la Aeugll W s
1. Aol 9pell sl ateu
2. A3 srell owgna o\
3. Aasdoll oetifda GuUd s2e
aleuL
4. Q3| 53 21U ol@, uq
oallfdct (Qeumea sal oweual
GURAsc (Aol ctiAdl Rl Rl
ogcllol oflA WL [Ascnuiel e,
@seul
(A) HIL 1 Y B
(B) M2 2 ALY D
(C) HIA 2 A 3 WA B
(D) WA 40y B




i

34. Which staterner?_t is NQT correct for | 34. o2 sudcti Rl 2l 53] Rtiot
the offence of kidnapping ?

1. Kidnapping is the removal
of a person from lawful
guardianship.
2. The means used for kidnapping
are relevant.
3. Consent of the person kidnapped
is immaterial.
4. Intention of the kidnapper is
material.
Codes :
{A) Only 1 is not correct
(B) Only 1 and 3 are not correct
(C}) Only 3 and 4 are not correct
(D) Only 2 and 4 are not correct

UUEWLetL Jatt {3 Wy Quuat a2l ?

L. AugMl A cAAa detl
st URell atcllueiniell g2
scllo] 5l 8,

2. UG HIZ AURAAA
Yl /uuadl yiidlls B.

3. vUsW YA ALl Aud
HecclBot d1RUL

4. BUUEWL 50Ul AL Hecctall
SLRULRL.

[asc-ﬁl :

(A) M2 1y otell

(B) H2L 1 ual 3 i o2l
(C) HA 3 ual 4 WUl ol
(D) WA 2 Wl 4 qul «ell

35. Where a woman under sixteen | 35. o> Qo cniell ol Dofl Gr2ell 1l
years of age is raped by one or more Guz 88 As waal Asell auld
persons constituting a group or
acting in furtherance of a common el uye 2l uac As
intention, each of those persons UHLoA BAEL WRLN clruReal 12 sl
shall be deemed to have committed 52cll WOUesR 52 A vy USlefl udls
the offence of rape and shall be AEAR AR Il il B

A Ho{l Aeudl e wa sl

punished with
ol galldcll Aot scMi wad,
(A) HJES Ul vYdst Sea{l Ut

(A) Death or imprisonment for life
and with fine

(B) Imprisonment for life, which

shall mean imprisonment for Ual £5
the remainder of that person’s (B) lpdot el um Boll ue

natural life and with fine cl5etell ol 23l el ctot

ytllofl 3e ual €s
fine (C) wepclet eo{l Ut Vol €5

(D) Imprisonment for twenty years (D) 20 i ol 3eoll 1o wA
and with fine of Rs. 5 lakhs .
3.5 cluall €5

(C) Imprisonment for life and with
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36. The maxim ‘acts ne invito factus est

mens actus’ means

(A) A child below the age of seven
years is incapable of committing
an offence

(B) An act done by a person
against his will is in reality,
not his own act

(C) Mistake of law is no excuse

(D) No communication made in
good faith is an offence by
reason of any harm to the
person to whom it is made,
if it is made for the benefit of
that person

37. Section 121 of the Indian Penal Code
deals with

(A} Assaulting President, Governor
etc. with intent to compel or
restrain the exercise of lawful
power

(B) Waging or attempting to wage
war or abetting waging of war
against the Government of
India

(C) Collecting arms etc. with
intention of waging war
against the Government of
India

(D) Concealing with intent to
facilitate design to wage war

36. Yo ‘Used ol Soclel Ised e Hodl
Asen'all el g U ?

37.

(A)

(B)

(©)

(D)

Ul el etloll a2t uRpncelR
ol 518 oJell sRall HIE WuHY
aQua

818 calsaell o [ sl
WA s &8lsAHl Aa] Welle]
s AR A8l

staelol gt B A s o8l

Y& off&ell 518 caBAal Aot Bl
sdatdl WA e8lsadll ol Aa
ellel &L Al uet A s8lsd sdcllof
s(2l 9foll wat otell

etdla Sleseldl wRledl sen 121
o1 guacll Rl s2 &

(&)

(B)

(€)

(D)

A ulq, AR(WA AT GuR
Aol st uRell xRl Guallal
scll $% ULsell ¥ 5l Asalall
dcell gHcl sl

el URsIR [A34 Y& 54 AL Ya
sclloll Yol Sl WU &
sall M2 HEeoUl s2cll

eURct URSR (34 Ya sclloll
galetell gl (A3 AsA sl

26 sclloll 2logatlal Ul S2clloll
BAEL guladl




‘A’, a coiner, delivers counterfeit

company'’s rupees to his accomplice
‘B’, for the purpose of uttering
them. ‘B’ sells the rupees to
‘C” another utterer, who buys them
knowing them to ‘C’ to be counterfeit.
‘C’ pays away the rupees for goods to
‘D’, who receives them, not knowing
them to be counterfeit. ‘D’ after
receiving the rupees, discovers that
they are counterfeit and pays them
away as if they were good. Here D’
is punishable for the offence under
Section of IPC

{A) 240 : Delivery of Indian coin,
possessed with knowledge that
it is counterfeit

(B} 241 : Delivery of coin as genuine,
which, when first possessed,
the deliverer did not know to be

counterfeit

(C) 242 : Possession of counterfeit
coin by person who knew it to
be counterfeit when he became

possessed thereof

(D) 243 : Possession of Indian coin
by person who knew it to be
counterfeit when he became

possessed thereof

38. ‘w Rsstcu atsell Susllen 3(Q20

Aetl Al ‘oA Aoll GAUA s 12
A B, ‘o A 32w wet GAUA
52lR ‘s’ AA B, B dAMal ascll
Alelle] HRllA WilZ B, ‘s’ ‘s'al Hictell
WEGML a 3Man Y5 B wal ‘s’ A
32 otscll Bletef Wil [Qotl Yl
52 8. ‘s’ A 3auyind sal ugdl e
B3 dascll B ua Aal AR sl AN
Hioll Yscll & 8. il Aoslolmi ‘s” ol
galicaul gl 585 scM 601 9JalolR
aeudl ?
(A} 240: atscll Aauoll ngustdl wd
eurclla Rsstell Aauell

(B) 241: Rsstell vcll lausdl
o253l WA Al 3 B yun
avtd wsRdl aua wlsiReua
Aell aiscll dlatell aasidl of s

(C) 242: 818 cals sl oiscfl Rsst
HIRQL SRcll, % ol 1wt 53l
adrd dell otscll 8la 249\ el
AU Al &l

(D) 243: 8¢ cals gl=t el
[Rsst 1B s2cl, ¥ % Aal wel
5cll UMHA A otscll Slan 23
aneisidl wRtad




39. Five persons went to ‘A’s house armed

with bats to beat ‘A’. One X’ amongst
the five persons was carrying a pistol
concealed underneath his shirt.
During the incident of beating, X’
fired a shot resulting in ‘A’s death

(A) All being liable for murder

(B) All being members of unlawful
assembly are liable for causing

death

(C) All will be liable only for
beating ‘A’

(D) Only X’ will be liable for
causing death

40. If ‘Actus non facit reum, nisi mens

sit rea’ is a cardinal principle of
criminal law, then which one of
the following statements correctly
reflects the above principle ?

(A) Mens rea is an essential element
of a crime and there cannot be
a crime without mens rea

(B) Criminal liability under Indian
Law always implies mens rea

(C) To constitute a crime there must
be actus rea and mens rea

(D) Actus rea is not always
necessary to constitute crime

41. Tort is a violation of

(A)
(B)
\®)

Right in personam

Right in rem

Both right in personam and a
right in rem

Neither a right in personam
nor a right in rem

(D)

39.

YA sl ‘W'l o1 usluULsclletl
gSaelell e wRl 53 ‘el ©R

B, vl Wiy culsaull Usl As ‘av
allHoll e WA A5 GES B, B dal

Wetlolt 2 o1lA ywacl 8. wR
HReletl 512 gfauet ‘& Wdell
olgsell olullaz 52 B, BUL ‘We Yy

lu® 8.
(A)u AHLH A5 Yot HIZ W AUGLER

20QU AL
AN cAlRA ARsIATUR
Hsuflotl ueat Slalloll 5IRQNUR Y3

[lusstaiall HI2 wcllolelR LU
AHLH AR HIAL ‘W' HIR
HlRal HIZ ¥aUELR Ul
HL ‘Y YRy Ruostaal MR

A clGLELR KA

(B)

€

(D)

40. % ‘AseY oot 3R 2uH ol At

41.

Hle dawdweldl siaietell votLoll
Rgict dla A oA 20eu U4 53
[Quiet GURlsdt Rgical il A
geld & ?

(A) Iellldcl Hiotd B ofott ida]
Hecclo] iRl & ol Iettldct Hioldt
Rlcttal ool aes A3 o1

alrcdlat stael dsmoll sloseldl
ogcllLE LML Rl oJotlldcl
Hioldoll HLA & 8

afell tlatell Hi2 A2l fatidct gt
Ul ol ct Mot 8l ulages B
oellldd s 8lg &Rl dfell ool
U2 wlagaus dld «iell.

UUFRL A ol GloL JtelaL 8.
(A) calsAoius wuEsR

(B) udoius wUEsR

(C) oo\, culsaloius wRsiR ua

Udloius w@s(2
ol dl culseioitts US1R AU ol
oAl udoius ulkls?

(B)

(D)

(D)




42. In which of the following case, the | 42, {3 ealdcti Udlett s2u Suul ectell
Supreme Court of India gave the

ruling, that, sovereign immunity of AHER Al el sRL Al

the State is subject to fundamental (el scuMl wicall 3 Al
i ?

rights 7 adeln QY6 yagd wAsRAR

(A) Shyam Sunder Vs State of
Rajasthan wLflot 289 ?

(B) State of Rajasthan Vs () UM YER [a,g,g RAFTAULA A
Vidyawati (B) A%t %A Q3¢ Qatadl

(C) Kasturilal Ralia Ram Jain Vs (C) sagilatet A AH Bot [A3a
State of Uttar Pradesh Gk Yzl A%

(D) Peoples Union for Democratic (D) lueu Ej[a?-ld sl 3Ry
Rights Vs State of Bihar A2 [Aza @slR A%

43. The term ‘Independent tort feasors’ | 43, ‘zada VUSRL scdl’ aleE & WLl

denotes two or more persons who
{A) Act independently at the same Aell du? cafsaul H\ua‘ 8%

time to produce different (A) Vs o UMA 2t fd st 52 B
damages UA @A ofs2uell Geus 53 B

(B) Act independently at different (B} AN WAL AHA el A siad
times to produce different 53 B ol [Ax o(s2llell Geun 52
damages &

(C) Act jointly at the same time to (C) W % UHA s WA 5120 52 B el
produce different damages @= alsgua-ﬂ Gud 52 &

(D) Act independently to produce

: (D) A dlA st 53 As o o520
a single damage

Geudl 53 B
44. The maxim ‘Salus populi suprema | g44. ‘Qay m\%@ﬂ ij@ltl Asd’ %plt’ﬂ w9
lex’ means i
9w B ?

(A) Mistake of law is no defence
(A) staLetoll et A 51 sl o2l

(B) The welfare of the people is the

supreme law (B) cliloj scauet A yalu stuél
(C) Itisin the interest of the State LY
that there should be an end to (C) 3[010{1 Foll vict Al W ALl
litigation .
@i ®

(D) The defence of statutory

authority is the supreme law (D) 3[010{[ el ol A uall

sLAEL LRI
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45.

46.

47.

A tortious liability depends upon

(A) Quantum of damages suffered
(B) Infringement of legal right
(C) Presence of intention

(D) Nature of act of person

The rule of strict liability

(A) Is without any defence

(B) Has contributory negligence as
a defence

Has act of God or vis major as
a defence

Both (B) and (C)

(C)
(D)

Match List — I with List - II and select
the correct answer using the codes
given below the lists.

List -1 List - 1I
a. Proof of Negligence 1. Jus terti
b. Trespasser cannot 2. Ex turpi

plead as defence causa non
oritur
actio
c¢. Incapable of doing 3. Doli
a wrongful act incapax
d. From an immoral 4. Res
cause no action ipsa
arises loquitur
Codes :
a b c d
(A) 2 4 1 3
(B) 3 2 4 1
(C) 1 3 2 4
(D) 4 1 3 2

45.

46.

47.

VUFRLAlS FAHEI] 2ol GUR

R B ?

(A) elotetcuHl v ofstoflowl
YHIRHL

(B) SlAEUReA BEL51201 6idl U

(C) SAELell slodl wR

(D) 5ol stelell Ystz Gu

Yt wUAELSlAl Rlan
(A) S\ olulel uRteldl «telt
(B) useioll, Ae2sdl slaua adly

YA B
(C) Bl st ULl AdlE wAA D

(D) (B) ¥l (C) ola

Al eoldet Al€l-1 A atdl-11
AUl WA AL [@Qscuidl
agcllol WYL,

él -1 A€l -1
a. Aesidlell Yaadl 1. v Rd
b. U206 YaAausdl 2. sy gl
oAl AL sl ollot
o} i@ AR
52
c. W e scll 3. Slell
wyHd o UsU
d. wdA@s sielau 4. Y i
58 WOl A Alfle?
sl oi(@
Qs
a b c d
(A)2 4 1 3
B3 2 4 1
©1r 3 2 4
D4 1 3 2
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48. Match the following in light of the
Competition Act, 2002.

List -1 List - 2
(Contents) {Legal
Provisions)
a. Establishment 1. Section 32
of Competition
Commission
of India
b. Duties of 2. Section 19
Competition
Commission of
India

c. Inquiry into certain 3. Section 18
agreements and
dominant position
of enterprise

d. Acts taking place 4. Section 7
outside India but
having an effect
on competition
in India
Codes :
a
(A) 4
(B) 1
(C) 2
(D) 3

LN WS
— pWw N6
e " ~ "

2

49. As per the provisions of the Consumer
Protection Law, a consumer does
NOT have following right guaranteed
under the Act.

{A) Right to seek redressal
(B) Right to be informed
(C) Right to be heard

(D) Right to move in Supreme
Court for justice

48. wu] WRR2aH 2002 oL ¥eeldi A
AL 1551 %S

a1l -1 A€l -2
(RoLd) (stepell
agtoteeSuil)

a. ewdla auul 1. SGH 32
w0l 284 Yol

b. elclla 2ued 2. 54 19
we2lotedl 529

c. ol Becus 3. 5644 18

5AA AHer o
YRldcl WUSsH U

Ul
d. GURd 6laIR &Uclt 4, 54 7

sl 5 % GURAM
] Gu YR

52t slat
@Qsel:

a b c d
(A) 4 3 2 1
(B) 1 2 3 4
(C) 2 3 4 1
(D)3 4 1 2

49. 55 Yra slAtls(l Hotcusul
AR SEFURL A5 WA AH 0
olA g2lddt AU@S1R Yt Ul aiell.
(A) cs2AR [Acuglell ul@si2
B) M wid sael u@s2
(C) ‘ol wfEs(R

(D) oA Uit scll M2 dcllL
WELCLAHL AUR% sclloll u[Es12
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50. As per the provisions of the Motor

51.

Vehicles Act, 1988, which of the

following person does NOT have

right to claim compensation for the

injury suffered by any accident ?

(A) The injured person

(B) Any public spirited person

(C) The person seating next to the
driver

(D) The legal representative of
deceased person

Read the Assertion (A) and Reason (R}
and give the correct answer from the

codes given below.

Assertion (A) : A void contract is not

necessarily illegal.

Reason (R) : Every illegal contract

is void.

Codes :

(A) Both (A) and {R) are individually
true and (R) is the correct

explanation of (A)

(B) Both (A) and (R) are individually
true, but (R) is not the correct

explanation of (A)
(C) (A) is true, but (R) is false

(D) (A) is false, but (R) is true

50. 122 cleot A2 1988 of]

51.

gatelleSull WaglR oA galcau Uslott
sl Al wsHLA £ 2ulel YA
g5osl WA AR Yl sclloll @SR
Yt Ul otell ?

(A) €Sl WA calsel

(B) 32 U HRAcUR sl
(C) WSl sllyrl AdA sy

(D) 4 URA el slatuRel
ARUELR U5l

{12 WA [Aareuais Qs (A) wa

5201 (R) <lill Aol dAHLR sgellod ol

vdelt [@Qscanidl ude s2A.

[Raaues @uist (A) : S e6ldA

522 ulaels dlad ARslARUR &dl
%331 otell.

510 (R) : YRls ARSLAT U 52U

Reolldd 8.

@Qscul :

(A) ¢ial (A) v (R) calsadld d
AU B uA (R) W (A)ell 2l
UMl B

(B) oial (A) A (R) calseiolet 3ld
WA B U (R) A (A)ell audl
Aol otell

(C) (A) MY B ud (R) wig B

(D) (A) Wg B U (R) W3y B
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52. The term ‘Frustration’is used in the

English law which is the parallel
concept of which of the following ?

(A) An initial impossibility

(B) A supervening impossibility
(C) A commercial impossibility
(D} A public policy

53. According to the provisions of the

Indian Contract Act, 1872, what

is the basis of Quasi-Contractual

relationship ?

{A) Existence of a valid contract
between the parties

(B) Prevention of unjust enrichment
at the expense of others

(C) Provisions contained in
Section 10 of the Contract Act

(D) Existence of a voidable
contract between the parties

54. If a pawnor makes a default in

payment of debt at the stipulated
time, the pawnee

{A) has the right to sell the goods
pledged without notice to the
pawnor

(B) has the right to sell the goods
pledged after giving a reasonable

notice of sale to the pawnor
(C) has no right to sell the goods
pledged but has the right to
retain the goods as collateral

security for the debt
(D)

neither has a right to sell goods
nor retain the goods as collateral
security but a right to sue
pawnor upon the debt

52.

53.

54.

Pl [dsact gloe Socllal slaglHi
AuAAAL B, ¥ o{lA ealcan Uslon s
VRULEoll UHIAR valA dwu & ?

(A) 23vlcell Rrsadl

(B) 5AR #cll wleall [Arguc

(C) cduls R

(D) &2 <A

lRcla 5212 Wl 1872 of
Bt 5 AR it /auenll sAR

BUUR A Aoitall BUUIR g deUL ?

(A) A uaslA A WA sLATURe
5] Rl

(B) ool WA walload dY(ell
LT

(C) AR URkell sEAH 10Ul WA
oflaLeiteful

(D) UALSR clAotl REGUAC Ucl WA
52U URA L

ol %2 Resdotl oo A3 520112
Wel? gl Welloll Eeuoll Ysagll [Aad
U2 HAElHL sRelHl 5YR srauHiud
l A A0, Qell WA

(A) WoRal 88 YsiRell Yuoll 12U
Rcta o0A 3 we Auaed
UMS1R B’AL B

Wota Hie QaRlell cuwoll
YAl il olle 20A Y3 WA
ducyell uEse ”¥cA B

o0 H3et et Aucall A o
U2 ¥ atell U Tal U
HAU MR 9 {loo(ld] ddl}
Aull Ysaioll uEs12 23 B

ol cll HIA Aucliell AES12 B wal
ol cl Hietel wletolll Al
Aucloll 1@5R B, UG WelR
A Bl I 1l scllall
sz B

(B)

(€)
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55. A contract for the sale of goods where

property would pass to the buyer
on payment of total price would be
considered as

(A) Sale

(B) Hire purchase agreement
(C) Sale of approval

(D) Agreement to sell

56. Which of the following statement is

true about the Indian Partnership

Act, 1932 after the enactment of the

Limited Liability Partnership Act,

2008 ?

(A) The Act is repealed by the
Limited Liability Partnership
Act, 2008.

(B) The Act is also applicable to the
up firms.

(C) The Act was amended by the
Limited Liability Partnership
Act, 2008.

(D) The Act is not applicable to the
up firms.

57. Which of the following provisions of

the Companies Act, 2013 defines
‘One Person Company means a
company with only one person as
its member’ ?

(A) Section 2 (14)
(B) Section 2 (61)
(C) Section 2 (58)
(D) Section 2 (62)

55.

56.

57.

HIE AUl Al 52A 5 B
HUASlesell ddlell et wileatira
Aol gLl AYRL Budsll Yysagll seusl
%9 l dal $2A 3l §A AU ?
(A) QAL

(B) &ictl Wl AR

(C) Hoyr 2 Al

(D) Qulell el

Al d orautotetd] ewdllell w@Aan
2008 ofl 2l ugdl oflAetl Ul
5] (AQuuat ercdlay ewollerdl @A

1932 3o W3 B ?

(A) QR Hall d scuoteldl euolletdl

A 2H 2008 3601 € SAcUHL
Uid 8.

B) Q wd Hale d watotetdl ewdllelsl
DEIENERIECTERVEN: )

(C) A Ml Hall2d wateedl
et w21 2008 g1
YU saUHL vyl 8,

(D) Q w HalilR ot waeeldl ewdllel
AERAA d] usell otell.

suofl 1 20134{l o{lA gaiicay Ul
585 oleles Aol callvay w0 B %
As sl SUoll Wed@ Al suofl ¥
Ful HIA A5 ¥ clsd doil e 33
aa?

(A) 5GH 2(14)

(B) SGM 2(61)

(C) 5E&M 2(58)

(D) $AH 2(62)
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58.

59.

As per the provisions of the Companies

(Appointment and Qualifications of
Directors) Rules, 2014, which of the
following class of companies shall
NOT have at least two directors as
independent directors ?

(A) The public companies having
paid up share capital of
Rs. 10 Crore or more
(B} The public companies having
turnover of Rs. 100 Crore or

more

(C) The public companies which
have in aggregate, outstanding
loans, debentures and deposits

exceeding Rs. 50 Crore

(D) The private companies having
turnover of Rs. 50 Crore or

more

As per the provisions of the Indian
Contract Act, 1872, in a contract of
guarantee

{A} There are two parties and one
contract

(B) There are two parties and two
contracts

(C} There are three parties and one
contract

(D) There are three parties and
three contracts

58.

59,

$uell (201 2014 ((Brsedoll Augs
el clasidell lotaug2 yosol oA
gallcaul Usloll sau aolell Suocflalui
Ay A Brseda wda (335ed
A3 Amal sABVald otell ?

(A) 3.10 535 ¥ Al auR erwy
A4Sl Urladl 9@ susllil

(B) 3.100830s 3 Aell aulr cauwr
(2elllalR) wladl ond? suslall

(C) 3.5053As ¥ Aell ar suall st
oll$l cllot, BAoud i 3B
tRiadl suellQ

(D) 3.50 535 ¥ Aell catuR WMl carulR
(2olallelR) tRladl wietdll sueflaq

allclal 5212 w2l 1872 |
RCIGEMERERITER TR ER E1ET
§2RH

(A) O UaLsA Ual s 5AR Sl B

(B) Ol U85 ual ol 5AA sl B

(C) 2AQL SR el 3l sAR HlA B

(D) AQUASIR B AR $AR &2 B
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60. As per the provisions of the Indian
Contract Act, 1872, which of the

60. olxclal sAR wRl 1872 ol
ROl B vlojlR o{lA gafcau Udledl

following is NOT an essential
& 565 BLoLclles Ao/ st URell 2l
requirement of a valid contingent

53l Hizoll picteas Hotenes ataudl
contract ?

61.

(A) The performance must be

conditional
(B) The event must be uncertain

(C) The event must form a part of

the contract

gl ?

(A) 5AR Wdtatl 2Rl 8lg RNsA
(B} ©2ell AUAssYU S\l KA

(C) d2ell AR edL olatcll &lell

A5
D) The event must be independent )
o P (D) 2ol elcdnt waalt alel Al
or ancillary RS

‘Vyavhara Mayukha’is the work of
(A) Jeemutha Vahana

61. ‘cAasix Hyw' A (A galcay Udl
Sloll U B 7

(B) Narada (A) Byt clset
(C) Nilkantha (B) oues.

(C) Rciss
(D) Mayura D)

62. Who among the following is known

as testamentary guardian ?
(A) Natural guardian
(B) Guardian appointed by will

(C) Guardian appointed by the

court

(D) Self appointed guardian

62. <A callca U4l sl ca@adl cudl
A3l owua ® ?
(a) wslds ccl

(B) AR AU [AHAA
alell
(C) weletd gl [ad adl

(D) el Fuadd e
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63.

64.

65.

Match the List — I containing the
name of the legislation with List ~II
containing the year of enactment.
Find out the correct answer by using
the codes given below.
List - I List - Il
a. Guardians and 1. 1955
Wards Act

b. Special 2. 1937
Marriage Act
c. Shariat Act 3. 1890

d. Hindu Marriage 4. 1954
Act

Codes :

a b c d
(A} 2 1 3 4
By3 2 4 1
C)y3 4 2 1
Dy 2 3 1 4

Illegitimate children under Hanafi
Law can inherit property from

(A) the father

(B) the mother

(C) the father and mother both
(D) the grandparents only

Under Muslim Law, if a marriage is
dissolved by divorce and the marriage
is not consummated, then the iddat
to be followed for a period of

(A) Four months and ten days and
if she is pregnant then till the
date of delivery

(B) Three months or if pregnant
then till the date of delivery

(C) Four months only
(D) No period of iddat

63. o{lA caldd aél -1 ui weuda
stauel /e €l - 11 A
s Al o WA ARulLd wal olA
WA ([AscHiel UA s L.

atel - I alel - 11
a. U2 waA ciclluguall 1.1955
wQ(A21M

b. QB cot wEERAUH 2. 1937
c. 23lad wRAH 3. 1890
d. et oot A 4.1954

[@scal:

a b c d
A2 1 3 4
B3 2 4 1
©3 4 2 1
D2 3 1 4

64. sotfl 5LAEL VofUR WsllRY GUA 5l
Slofl WALl arrae Ancl ai ?
(A) Ra wadl
(B) Hicll wAell
(C) Hicll Ax [l wdell
(D) H2 Elel-€L€] w2l

65. YRAH 5AEL 360 % cdelall 2IBSL
GlRL vlel AR UH] BUAA 8l Ual %]
Aol (lAUAA ot §la ol A UM
Secloll yHAU0U 234l
(A) AR ML AHA £A Rt vtal ol
seladl Sl Al cinsell woefl
cAt3lu Yl

(B) 2Rl Wi wa % =l aweladl sl
Al sllnsetl oor Yl

(C) HIAL AR HIYU

(D) S Sactoll AMHANO &l
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66.

67.

68.

Amongst the following, who is not
class I hire in case of devolution
of property of a Hindu male dying

intestate ?

(A} Father

(B) Daughter of predeceased son
(C) Mother

(D) Widow of son

Failure of Muslim husband to
provide maintenance to his wife for

a period of is a ground

of divorce to Muslim wife.
{A) One year

{B) Two years

(C) Three years

(D) Four years

After which of the following cases,
the discussion relating to Uniform
Civil Code came to be debated ?

(A)
(B)

Lily Thomas Vs Union of India

S. R. Bommai Vs Union of
India
(C) Shah Bano Begum Vs Union of

India

(D) Maneka Gandhi Vs Union of

India

66.

67.

68.

58 [@of Yol [@etcaRad Yy
une olte oA gelcaul U4 51
Resdett wRel 655 213 aol-1ell
cAlRUELR A% AU o3 ?

(A) [eu
(B) 20UB He3f WA Yaoll yoll

(C) =
(D) [Quat yaay

518 YRAH W gl Wetell Ueellal
ctioll AHAALOL HER

ARG Y3 WsalMl o x1a Al d
HRAM Uell 2 gaIdst it sclsdl
SLR0L JQU,

(A) As ol

(B} A ay

(C) 2 an

(D) wR ad

AlA gallca Aol sl 3Y GllE UMl
AAlOIRS UBA el uUl ustaml
we]l ?

(A) Al ma Q¢ eurd Au
(B) Jal 2. clus {[de elrd Al
(C) 2us ool QLM (A& euRd A

(D) Aetsl oitll [A3g e ¥l
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69.

70.

71.

A Hindu male who has an adopted
son living

(A) Can not adopt another son
(B)
(C)

Can adopt another son

Can adopt another son with the
consent of his wife

(D) Can adopt another son with
the prior permission of the

court

Under Shia Law, the mother is
entitled to the custody of her male
child till the age of

(A} 2 years
(B} 7 years
(C} 11 years
(D} 15 years

The Tiwari Committee set up in

February 1980 was associated with

(A) To suggest appropriate
mechanism for payment of
compensation to victims of
environmental pollution

(B) To suggest measures to be

adopted for environmental

degradation

(C} To suggest administrative and
legislative measures that ought
to be taken for the protection of
environment

(D) To suggest a suitable grievance
mechanism for water pollution

69.

70.

71.

88 (3of Y™ ¥ Boll £is clllet Yt

WA da A
(A) Ue A YR £xi5 A B @

(B) e Yool £Tis A Ad
(C) Wellell wedlell dnfasll woa

Yool ETis A U
Elecoll Yd Hadl site ot

Yo Evis A8 A

(D)

Q2w stael wafuR €lszAell
adell G g2 Yol Ml Al s

BB Sl BSSELR B.
(A) 2axd

(B) 7 ax

(C) 11 e

(D) 15ad

gl 1980 Ml aUCHL AA

Qadl AR 585 et Ad Asoude
ecdl ?

(A) walaReHl YENBLell el
cotollRA HIRZ anciell Yysaell
gRcll widl ARy Huowledl Ut

walaelell [Qettal aa 249
BUollalcll GLaLs UILEL A Yuall
scll

(C) walaRelell B A Al Ss3
Aal adladl dau staetsla uaal

I Yol s2cll
(D)

UL UEMGL B AR A82AR
(il HLe] YUt sa
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72. Match List — I with List — II and give

the correct answer by using the codes

given below.
List - 1

a. Transboundary
Movements of
hazardous waste
and their disposal

b. Convention on
climate change
to limit and
reduce green
house gases

c. Convention on
protection of
ozone layer

d. Protocol on fair
and equitable

use of genetic

resources
Codes :
a b c

A) i i iv
B) i i i
€ iv i i
(D) i iv i

i.

ii.

1ii.

iv.

d
ii
iv
i

i1

List - II
Kyoto

Protocol

Basel

Convention

Biological

Diversity

Vienna

Convention

72. oA wpudd alél-1 o aél-11

Uulcll val ol wgudd [Ascdell
VLR ALAUL sellel 3l

aLél-1 a1€l-11

a. ool well i sellel

Aeil [AsLe Ylelsle
w3 udR
AN

b. ol &G i, Auet
algulld vig@ld  ARet

$3dl el ualsal
uellscll WRada
Ued el

C. WAt cltyetl il sy AR
el 8 A JLEIREN
ANl

d. ¥o dalsllett iv. QA1
o A alwell AR
adyRLel wdl
Jla\sle

@se ¢
a b c d

(A) i i iv i
(B) i i i v
() iv i i i

(D) i v i i
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73.

Read the Assertion (A) and Reason (R)
and give the correct answer by using

the codes given below.

Assertion (A) : Sustainable
development under Environmental
Law is an Economic Planning that
attempts to faster economic growth
while preserving the quality of the

environment for future generation.

Reason (R) : The intergenerational
equity mandates that current and
future generations have rights and
obligations that are fair and just
when it comes to the distribution
of resources, opportunities and

burdens.

Codes :
(A) Both (A) and (R) are correct and (R)
is the correct explanation of (A}

(B) Both {A) and (R) are correct, but

(R) is not the correct explanation

of (A)
(C) {A) is correct, but (R) is wrong

(D)

(A) is wrong, but (R} is correct

73.

oflA 2UVUE &51RAHS (AUl (A) ual
5104 (R) & cliall wal oA wa

[Ascqaiell w arcue 2,

851UeHS ([Auiat (A) : valareice]l stael
dsm 256 (st A A s wlyet

8 3 @ aldwuedl At w2 valagell
dpatetritell ol s2al A8 s
[@Asida Ylcuset 20l 8.

51281 (R) : wdR Ul coLefl Amtotel

Bl GRal UA B ¥ sletoll Axes
allQrae{l AERAA Auitollet [Ast
I sl dHer ollost U3, 3 vleA

AL wel s2u2ll Slat Bley §551 v
529 23cll B.

Qsedl :

(A) oial (A) el (R) AAL B Wiol
R) A (A)ell WAl ameedl B

(B) ol (A) ol (R) AL B, U
(R) A (A)ell Al uuzgedl «tell

(C) (A) WY B, U (R) W &

(D) (A) W& 8,Ud (R) 0y &
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74.

Four global environmental mega
conferences were conducted at
various point of time.

Choose the year wise correct answer
using the codes given below.

1. United Nations Conference
on the Human Environment
(UNCHE)

2. United Nations Conference on
Environment and Development
(UNCED)

3. World Summit on Sustainable
Development (WSSD)

4. United Nations General
Assembly Special Session
on Sustainable Development
(Earth Summit - II)

Codes :
(A} 1,2,4,3 (B) 3,2, 1,4
(C) 4,3,2,1 (D) 2,4,3,1

75. The National Green Tribunal has

Jurisdiction to settle the disputes
listed under Section 14 of the National
Green Tribunal Act, 2010. Which one
of the following is NOT within the
Jurisdiction of the Tribunal ?

(A) All civil cases where a
substantial question relating to
environment

(B) Such questions arises out of the
implementation of the enactment

specified in Schedule I of the Act

All disputes adjudicated are
entertained by the Tribunal
within a period of six months

The tribunal if satisfied that
the applicant was prevented by
sufficient cause of action may
extend a further period not
exceeding ninety days

(C)

(D)

74.

75.

[y uxaouBl 2[auet
walargeella uR dls HeldiRNdalls
el FRAUHL WA,

AHIRL UL el oA Qe
Qscuigdl sual.

1. Mlold uAlaRQl U dysd
Ao} AN (UNCHE)

2. yalaRQl Aal [Asi i AYsc
Alej UAAet (UNCED)

3. 2516 [Asid A d@s AR
(WSSD)

4. AYscl Aloll UHLoA Al 2518
Qs U Qe uAt

(e d@e-2)
@Qsel :
A) 1,2, 4,3 (B) 3,2, 1, 4
€ 4,3,2,1 (D) 2,4, 3,1

Al sRAVU w2 2010 of
sAM 14 ds0 c@landd [Qauglet
[Reuzet 203 Al sRAduA ggHt
¥cll ®. A Wl V4 8 ol
Udell esHa 360 waddl Aalda
otefl ?
(A) UlcRBlel ANl Heccloll Yl
uRldcl sla Aot Eleusdl 30

slaeloll Wefy@A-1 1 aeladel
w200 oll BHAA 5128 GUR
Ul veallcll il

89 Hldoll aHUOLHL Rl
AUWAA SlA dal cHH [Qaél
A gl AclaellHl w|al

ol UAol Ucllt Al ¥ WRWELR
cattosoll Yretl s1REAUR Wadd &1l
dldalg Rauell au? oél dec

A2 oY adl ok

(B)



76.

77.

Which one of the following is
incorrect ?

(A) ILO convention calls government
to develop systematic action to
protect the rights of indigenous
and tribal people

The Constitution of India do not
provide for the recognition of
social and economic support for
senior citizens

Right of all religious and
linguistic minorities to
establish and administer
educational institutions of
their choice

The Constitution of India provides
for promoting the educational
and economic interests of the
weaker sections and seeks to
protect them from social injustice
and exploitation

Read the Assertion (A) and Reason {R)
and give the correct answer by using
the codes given below.

Assertion (A) : A founding principle
of Human Rights embraces the
notion that Human Rights belong to
everyone wherever he or she resides
Human Rights are Universal.

Reasons(R}): 1. Acceptance of Human
Rights as part of international law
and politics.

(B)

2. The overlapping consensus on
culture and region rests on these
internationally recognised Human
Rights.

Codes :

(A) Both (A) and (R) are correct and (R}
is the correct explanation of (A)

Both (A) and (R) are correct, but
(R} is not the correct explanation
of (A)

(A) is correct, but (R) is wrong

(B)

(€
(D) (A) is wrong, but (R) is correct

76.

77.

oflAotl UL 53] (Qtitot VIE & ?
(A) WY, A, . YHAA URS1RA
HO AH cotalll ASlel
W@ SAoll 2843 M2 cAdRAdA
Wl [Asuteaal i3 weud 8
ellRcle] ol alRvs «ldLRS
HEZ WHI®s A 2ulEs vl
3 wsel il Aotauss s «tell
M wbls Ane ewsla
Ayl Weloll uieoll
ol AailRls eyl wWuclsll
Ul Aell aslae saloll wESIR
GURclo] oltiReL stotou aollell
Aa@s ol 2Es Bl
Yldlgel M2 olalle 52 8 ol
Aulla AHIBS v WA
slneedl olauaet HI2 atell

Howll s &
(1A WA &51AHS [Atliat (A) uA
51201 (R) i A AL ALA scllol

o(lAetl (Aseulloll Gualol s3la 20l
&521cds [Qulel (A) : Hielcl HE@S1el

Gealcldl Rgicdl Al ¥scuetl uAA S

% Hlelal BESIRA M cAlAlla

o] ud 8, A A/qAgll slgfugl wseun

¥l 8lal. Hielal wEsA ARs B,

51281 (R) : 1. AldRAFA staleL

A o{llQetl 1oz Hietal U [stAA

ls(2.

2. Al wA QR URA Aastdl

AHA 2 vl (1Rl

BAULALAA Hiotel WESIA UR

w3 B.

Qscl :

(A) olol (A) ual (R) AU B A (R)A
A)ell WAl Wl B

(B) iR (A) WA (R) ALUL 8§ URd
R)A (A)ell w2l qmogcdl ol

(C) (A) WA & Ud (R) Wi &

(B)

(€)

(D)

(D) (A) W & URd (R) eui' 3]




78. Match List - I with List — II and give
the correct answer by using the codes

given below.
List - I

a. International
Bill of Rights

b. Protection and
promotion of
Human Rights
within the
boundaries of
a specific State

c. Human Rights
norms apply to
those whose
cultures have
a tradition of
endorsing
Human Rights

d. Viewing, storing

and possessing

i.

ii.

iii.

iv.

child pornography

is punishable
offence
Codes :
a b ¢
(A) iv i i
B) i iv i
(C) iv i i
(D) i i iid

iii

ii

iv

List - 1I
Cultural
Relativism
Supreme
Court on
POCSO Act

State
Human
Rights

Commission

International
Covenant

on Civil

and Political
Rights

78. ol el €l-1 A €}-TTU

AUULA el AL wellell «llA Qe

@Qscnigll 2.

AL€l-1

a. w[RsR U<

NS EEA]
PEN

b. 51 AlssH

Al u8EL

ol Hlolcl

DRI IELTE

ol YAUR

c. Hiotel WAsAatL iii.
t1Rel AxdlaA

G Ui 8

Bulell drglaui
Hlola, U@ s
wlaiaaledl

yeuel 23
gl 8

d. ollsla ddld
ueella Wl
g, HauUs sl
vlal UL 5

A £seflal
BUURAY B

Qsew :

a b <c

(D) 1 ii iii

) ivoi i
B) i iv i
)

a1€l-11

i uirglds

Aelelle

i, Ulsal

wWREAUH

dsmn Yl
WELA

A% Hlslel
SFDETERIE

iv. g€leltefl wWa

A8l
HBER
R

Ul A
Dl




79. Which one of the following is

incorrect ?

(A) The United Nations Convention
on the Rights of Persons with
Disabilities is an International
Human Rights treaty which
exists to promote and ensure
the full and equal enjoyment
of all Human Rights and
Fundamental Freedoms by all
disabled persons

(B) The Government of India is taking
steps to bring Individuals with
Disabilities Education Act

(C) The Government of India
formulated the National Policy
for Persons with Disability in
February 2006 which deals
with Physical, Educational
and Economic Rehabilitation
of Persons with Disabilities

(D) The Government of India signed
the United Nations Convention
on Rights of Persons with
Disabilities (UNCRPD) and
subsequently ratified the same
on 15t October 2007

80. The third generation of Hurmnan Rights

is also known as
{A) Civil and Political Rights
(B) Cultural Rights

(C) Solidarity or Development
Rights

(D) Indigenous Rights

79. o(|Q galcan Usle] 52 [Quutet WG B ?

80.

(A) (& cauidteellotl uRSA U
UYscl A ARt A s
it Hiote AR 1@ B,
5 % I (Bcatioewell sl Histd
RS dal Yaed etcaidllda
AYEL AUl YHLot HRQ wojetad
531 sl A olloldal NRUEA

gcll Hi2 UAA ©.
R w2512 [Asciol culsa 1

Rlargt wRl ual B watel A

8 B

GlRel ARSIR gl oyuudl 2006 Hi
(2 catioerall 12 Al oAl
U sReUHl wl B, ¥

@ catioterall W2 wdlRs, dalds
ual U5 Yot amaue 4

oQotciles 52 .
el MRS gl (Bcauiol wellell

WESR U AYset Aol
dnctet (- Aot AL v 1.4 ul
U sl wdl wa @Role
dal 1 lsEleR 2007 o1l A%
512 sraHl U<,

Hlelel R 51l Ao UdlA w2t 5210
ol vloeld 8 ?

(A) €latell ual Al wuEsIA
(B) dislds w@siA

(B)

(C)

(D)

(C) AUl WAl Qs @513
(D) HA et @SR




81. The doctrine of “scene-a-faire” is

used as defence in

(A) Trade mark infringement suit
(B) Design infringement suit

(C} Copyright infringement suit
(D) Patents infringement suit

82. The Work of Joint Authorship is

defined in which Section of the
Copyright Act, 1957 ?

(A) Section 2 (gq) (B) Section 2 (x)
(C) Section 2 (y) (D) Section 2 (z)

83. Which of the following is NOT defined

in the Trade Marks Act, 1999 ?
(A) Registered trade mark

(B) Distinctive character

(C) Deceptively similar

{D) Registered user

84. Which chapter was inserted in the

Trade Marks Act, 1999 through
an Amendment in 2010 for special
provisions relating to protection of
trade marks through international
registration under the Madrid
Protocol ?

(A) Chapter II A
(B) Chapter IIl A
(C) Chapter IV A
(D) Chapter V A

85, The Intellectual Property Rights in

semiconductor integrated circuit
layout design is for the

(A) Semiconductor material

(B} Integrated circuit

(C} Layout design

(D} Semiconductor integrated
circuit

81.

82.

83.

84.

85.

Ulot-1-32 oll Raidt 2UHL sua A3y
U B ?

(A) caul? Rlosell eidletl EleitHl

(B) (393 8etoll Giolell ElcltHl

(C) sldlRieS2all elolell ELcltHl

(D) W2oeell elolell £l

‘AYsct Auiet slal'al siUlise
UREAUH 1957 ol 58 scn 3501
(R sReUHl HAH B ?

(A) 56H 2(57) (B} sEH 2(3sYU)
(C) SAH 2(clld) (D) $E&H 2(DS)
ol el Usl auell caurvaul carut?
Rles WRRUM 1999 Hi UL
WA o2l ?

(A} At cautu@Roes

(B) Qe dawl

(C) DARMEYSA UHLotcll

(D) ol auRasdl

cUURRlE wEA2H 1999 1| oA
galcal Usle] 52 yYswl 2010 ol W™
YUIRL giRL GRRAUH wAH B, 3 %
AFs Walsla vidold caruRaddll
uidRA el Aluell a2l ccnw@Rset
2801 A Yol & 2

(A) US2WLII A

(B) USWLII A

(C) USWL IV A

(D) USWL V A

Alsss22 8a3192s A WB2 (SHL8at
U olllgs duetell vilElsz «{Ast
Qg 2l Yivd 2w 8 ?

(A) Allssse? ueld ua

(B) 8s2132s ulFe u
(C) A-uuG2 [BxHeel U

(D) Audlses522 SI2s uEe uzd




86.

87.

Which Chapter of the Biodiversity Act,
2002 has provisions for “Regulation

of Access to Biological Resources” ?
{A) Chapter II

(B} Chapter III

(C) Chapter IV

(D) Chapter V

“The Patents Cooperation Treaty” is
a special agreement under

(A) Paris Convention

(B) TRIPS Agreement

(C) WIPO

(D) WTO

88. Arrange the International

Conventions on Intellectual
Property Rights descending order.

{A) Paris Convention, Rome
Convention, Berne Convention
and TRIPS Agreement

Berne Convention, Paris
Convention, TRIPS Agreement
and Rome Convention

(C) TRIPS Agreement, Rome
Convention, Berne Convention
and Paris Convention

{D) TRIPS Agreement, Paris
Convention, Berne Convention
and Rome Convention

(B}

86.

87.

88.

P QRUA HEERH 2002 o oA
gallcail Ul 53 ysW ‘%al

Al tolletl GURDL i3 [Aaamet’ 213
atalciles 52 8 ?

(A) USWLII
(B) UsWL III
(C) UsWL IV
(D) YsW V

‘Yeoz usslz A 3l sa sAR d6014ll
QR esloteuss awua & ?

(A) ARYU UAelat

(B) dlwd 5313

(€C) S (A olllgs Aul daen)
(D) suicy), &l . ([Au cauwz Hre)

olllgs AuR e AlA ealaal
AAAA A BARcll sHHL sl

(A) AR™U URctet, AH AR, ool
Aol wa i s2AA

(B) olol dilciel, WEH AR, Sl
52AR Yol AH AN

(C) At 52A3, AH dNctel, wol
ANAel Wl WRY ANt

(D) v 5213, ARH AN, ol
ANAH W AM Aot

- vy



89, As per the provisions of the

90.

Information Technology
(Guidelines for Intermediaries

and Digital Media Ethics Code)
Rules, 2021, which of the following
statements are correct ?

1. The guidelines contain Code of
Ethics and procedure for the
intermediaries.

2. The Ministry of Information
and Broadcasting, Government
of India shall formulate an
oversight mechanism.

3. The Rules require intermediaries
to establish a grievance redressal
mechanism.

4. The guidelines are applicable only
to Over the Top (OTT) platforms
only.

(A) Only 1 and 2 are correct

(B) Only 1, 2 and 3 are correct
(C) Only 2, 3 and 4 are correct
(D) Only 1, 2 and 4 are correct

In which of the following case relating
to responsibility of intermediary
liability under the Information
Technology Act, 2000, the court
held that IPC does not recognise the
concept of an automatic criminal
liability attaching to the Director of
the Company when the company
is an accused and the Director
does not automatically becomes
criminally liable for the criminal acts
of the company ?
(A) Shreya Singhal Vs Union of
India (2015} 5 SCC 1
(B) Avnish Bajaj Vs State (2008)
DLT 769
(C) Hitendra Vishnu Thakur Vs
State of Maharashtra (1994)
4 SCC 602
{D}) M/s R. K. Production Pvt. Ltd.
Vs Bharat Sanchar Nigam
Limited (2012) 5 LW 626

89. HIBl dsollfl (raefladl w2

Hole(@lsl, Axer B@ec HiE3au

AlAscl A @al 20214

oflolelleSull wojAIR oflA ealcal Uslatl

s [Aeiell Wi B ?

1. ut Holelst Hearzellal w2
AlAscl AN Aldcl Axe

Yol Al 52 8.
2. iRl URsIRe] HUEAl An

YUREL HAAA 35 WM Al
HLouLel 23Ul 529,

3. A [l 3si HeaelalA
dA521R [Aaurel Huauell U
scl usFl[.

4. L HELe(alsl M AR Y 2y
(OTT) HILAH HIe % Ao Usal.

(A) ML 1 xR 2 W olad HUl B

(B) dizt 1, 2 wal 3 Wl 8

(C) HA 2, 3ua 4 Wl

(D) Mol 1, 2 val 4 UL B

90. HRAl asellsl w21 2000 s

Hearlefl aanweldla cdotal «lQ
goflcaut USloll sl JuHl WELAd gLRL
sRlelelHl WA ¥ R Suoll vl
Aal AR Aeil 335224 walolelR
slalcll M2 ekl Slweldl il
A UAA Slosetd] wcuoteldlot
vllAal Hiedl AWA ol wa Sus{leu
Slge L] geell 12 Aol (335224
U Sletd] AS FcleelR sl
Asldl otell ?
(A) R RAuct Qe MR URSIR
(2015)5 Qa.fl.{l.1
(B) udollal oono [Qgg AU (2008)
.Ac.él. 769
(€) RBaos Qwy s1g2 ([Ae HalRAR
A% (1994) 4 Au.Yl.2l.602
(D) Aual 202.3. lssatet Ysae
@AREs Q34 alrdt AuR How
[@AMZS (2012) 5 VA S61CR.626




91.

92.

93.

94,

95.

The Constitution of the United States
of America is in operation since

(A) 1787 (B) 1788

(C) 1789 (D) 1790

Which principle is NOT a part of the
formal rule of law ?

(A) Publicity

(B) Consistency

{C) Stability

(D) Fundamental Rights

Read the Assertion (A} and Reason (R)
and give the correct answer from the
codes given below.,

Assertion (A) : In the United Kingdom,
the form of judicial review is weak.

Reason (R) : In the United Kingdom,
the Parliament is sovereign.

Codes :

(A) Both (A) and (R) are correct, but
(R) is not the correct explanation
of (A}

Both {A) and (R) are correct and (R}
is the correct explanation of (A)

{C) (A)is correct, but (R) is incorrect
(D) (A) is incorrect, but (R} is correct
The Parliamentary form of Government
is based on
(A) Overlapping between Executive

and Legislature

(B} Overlapping between Judiciary

and Legislature

(C} Overlapping between Executive

and Judiciary

(D) Overlapping between

Executive, Legislature and
Judiciary
The current Constitution of France
often referred as the “Constitution
of Fifth Republic” was adopted in
which year ?
(A) 1919

(B)

(B) 1934

91.

92.

93.

94.

95.

Yolleses 2 Alg WARSsIe vt
ol el viHel .

(A) 1787 (B) 1788

(C) 1789 (D) 1790

ol eaollca USlall 52 Rgic

WUAURS stAELAL WU etall QUL

ol ?

(A) YUR

(B) lctel

(C) RARA

(D) HAeA ARSI

ol WA &51AHS (Atat (A) WA

5120 (R) cllAl el AMIA sellol o2

AN @scauiel wie sA.

851AHs (Aol (A) : Yousses (Bosuul

RURS Yoluacllsoto] AU alely] 8,

5128 (R) : YoUsses (SosH M due

aldelH B.

[Ascl :

(A) olal (A) el (R) WAL B U]
(R)A (A)ell Al umggell otefl.

(B) olol (A) el (R) ULAUL B wal (R)U
(A)ell WAl unyd B.

(C) (A) W & Ud (R) W &

(D) (A) Wg & Ud (R) WY B

USR] AUl AU el GUR

WURa B ?

(A) stwldst v AAE aq]
CESE

(B) cUAUUASL Wal AUE ]
CEREL

(C) slul@st wa RuAUL A S o]
CENE

(D) stluAst, dUE W cU2UASL
CEN LN GEREL]

Slod £l clclHlol sitREl 5 %A

Hl2Leldl WiUHL Yostilsell o{tlR8L

313 uel vlloncuHl WA B Aal sa

] s saHl buc% ?
(A) 1919 (B) 1934

(C) 1943 (D) 1958 ici 1943 iDi 1958




96.

97.

98.

{ 99,

100.

The Constitution of the United States
of America is consisting of

(A} Preamble and 4 Articles
(B) Preamble and 5 Articles
(C) Preamble and 6 Articles
(D) Preamble and 7 Articles

Right to Information under the Right
to Information Act, 2005 is defined
under which provision ?

(A) Section 2 (m) (B) Section 2 (j)
(C) Section 2 (h) (D) Section 2 (1)
The Obudsman system originated
first at the global level in

(A) Sweden, 1889

(B) Sweden, 1809

(C) Sweden, 1899

(D) Sweden, 1890

Which is NOT the objective of the
“Right to Information Act, 2005” ?

(A) To promote transparency and
accountability

(B) Access to information under the
control of public authorities

(C) Set out the practical regime of
the Right to Information

(D) To make it as Fundamental
Right

The Obudsman system has been

brought in India by

(A) Lokpal Act, 2013

(B) Lokayukt Act, 2023

(C) Lokpal and Lokayukt Act, 2013

(D) Lokpal and Lokayukt Act, 2023

96.

97.

98.

99.

100.

Yollefes e ulg WARSLe] ol
of o] 8.

(A) wUL Aol 4 Vo] WE

(B) 2w Ua 5 WofWDEL

(C) w3t Aol 6 UfWEL

(D) 4HW ol 7 W]BYEL

HIB ot w@sz wRfAas 2005 <l
58 st 260 HURlo] w®si 2ot
RUWRARA §AUHL WA B ?

(A) 5GH 2(AH) (B} SEH 2(%)
(C) 86X 2(RAA) (D) SEAH 2 ()
AlsUEoll uald d@s saudl udyan
sl? Geolet WAA &l ?

(A) (s 1889w

(B) «Qlsetil 18094

(C) llsotui 18991

(D) llsetul 1890 Hj

1A ealcal Ul s GEat HIRA A
@52 2005 o GRal o8l ?

(A) WRelldl ua GrRelBaa
Ul gol AU

%132 AtllElstlAe [AiaguHi
Al MRl uinet 52l

HIB Lol ufRs1R4] cataislRs
yeucll da Gl s:q

dal As yagd wiEsR 313
Y sl

ellRaHl Aswe ofl uald auett gLzt
vllovlalaHi wadl 8 ?

(A) dlswe w2013

(B) clsis w2023

(C) ASULA U Alsiysd ulAun
2013

(D) cdlsulA vial Alslysd w@RuN
2023

(B)
(C)

(D)
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